THeEE ALBER—E [UKES]

AHLE ey 255 RHEBR) | HIBANE | H2EALE | B1ERAE | B2ERME |AUGR| REGR| FEmE () | HEDRER #
SF6ES5H15H BKISEREEHET (B BE#RAE B 6,820,000 6,200,000 &AL
(B BEEEEL K 6,450,000 6,820,000
B IMHREET AR 6,700,000 oo
=HEEREGR) 6,368,000
FEKERBESZBRTRAREBR (W THEL TYY 44,200,000
it =HITE G EBEEREER 44,500,000
EEER ) e 51,300,000
AT =7 T ) BEXE 46,600,000
k<L Bt T 51,480,000
PRt (R SULV-FE R 47,850,000 43,500,000 SEAL
BHEI7LITAH—ERE) iR
_ ARG F—B—(kk) SV -EEEM TR
EKEMRICHESHEERIZS R [BBERTH 3,880,000
6—1)XBRE (B RiEEHh =EEXrT 4,070,000 3,700,000 AL 4382 400
REEHEETGR) JBEEEM 3,850,000 oL
(B mERO Y ILAV S HEE R 3,770,000
RKRAEEEBZT )2+ —2—HHR—*t 14,600,000
By BEEFIE 15,620,000 14,200,000 &AL
hTLO=FUL T (#) 15,200,000 16.665.000
EREALEK SWN-FEEERT 14,750,000 oue
EBEAARKELE— BEEXE 14,800,000
ERIFRKAE BEEXM 14,700,000
SH6FE5H30A VY —MEEYTERZMEBZTE | R RFEHRGEHEM HEHRM 2,530,000 2,300,000 &AL
hEARERIVHILEUNE) EERERER 2.800.000
it e 2,970,000
HARKT () BIREHM 2,600,000
R B AKEERET T SW-FEXRR 2,600,000
BRARZRISEEEZRT E = 5% E(HR) 2,710,000
SHSEEEAE) REE XM 2,800,000 3,098,700
() KXfEth = EEErR 2,915,000 2,650,000 &AL
MR TULRAEKMRARBIERT |(BRY+—2—Tv) FHAXE 2,230,000 £
BIE EIEEIONES %A 2,900,000 iR sokok ook
HEEEBE) BERXH 2,700,000 N
ALER R KRR EEFR IEER (I FAAREMER EBERERXIE 13,000,000
BOE3I L (BRBSER T %t 12,900,000
(BRXEEH =R 12,800,000
(BRBUEERET R IEAT B F HARAT 12,980,000 11,800,000 AL 13.816.000
hEARRIVHILEUNE) FLEERER 13,000,000 e
i e
BAKT (k) BHRE AT 13,500,000
BRBARKEFETHE SWV-FEEER 12,300,000
JLEREKIBEKAR T/ LTav 0 — [EREZEG) BEXst ER
FEE \EEREGE) BRI 8,900,000
NES:T5REIC)) R
=HIEG) BEEREZER 9,800,000 10,995,600 9,346,260
BE—TH/ BEEXE 9,350,000 8,500,000 &AL
BRIEILS=F7ILIH—ER BEEREX 3B
I&

1/4 R=Y




THeEE ALBER—E [UKES]

AHLE RHEA 252 RHEBR) | HIBANE | H2EALE | B1ERAE | B2ERME |AUGR| REGR| FEmE () | HEDRER W
SF6FETH3H BRAMREKERRER6—1)IE|EARHKASH 97,600,000
ﬁifiﬂéﬂifé 99,900,000
ASHAKETE 97,500,000
HERERRS 97'880,000 105,776,000 96,256,160
BRASt7IER 104,500,000 95,000,000 &AL
BASHFHES ER
BEKEMBRB (R6—2)IF B7IEX 28,600,000
(ﬁ)ﬁ!ikﬁli 28,100,000
gﬁi‘iﬁf gg:ggg:ggg 31,768,000 28,591,200
AEHEERTER 28,800,000
RIS E T 30,690,000 27,900,000 E L
&R RKIGFEKFHSLICERENME [FHBRED 770,000
REBZTR (BR=xEZE 700,000 803,000
R ES 726,000 660,000 &AL
SH6FETA24R8 TARKEERFIHESEKEMES (R6— [BEEHED) 55,600,000
3)IE HTIEZEE FE
[EESESCE)) 54,900,000
LIS ET 54,800,000
(BA)EHERTERR 55,000,000
FRAKETE 54,200,000
e 58,740,000] 53,400,000 &AL
BT IER 55,900,000
BiAthXEKERRE(R6—2)IE|HEEHE) 74,300,000
[CEIERE LY 54 74,500,000
[EESE (5] 73,950,000
EWLIBET 74,900,000
e i
(A)EHERTERR 73,400,000
HAKETE 73,500,000
e 80,080,000] 72,800,000 &AL
BT IER 73,700,000
EKEMRE(R6—1)IH B7IER 50,600,000] 46,000,000 &AL EFLCICKYBILRTE |
TEEEER 51,200,000
KB T X 46,000,000
Argn® 20300600 55517,000{ 49,965,300
BNTR 50,700,000
BAEERRTEAR 46,460,000
BB ET 45,400,000 XK
EKEMRE (R6—3)IE W7 IR 51,200,000
(ERtEIE LA 53,400,000
(mﬁiksal;% 55,000,000 50,000,000 AL
@gg@i g;:ggg:ggg 57,400,000 51,668,100
BNTR 52,000,000
AEERRTEAR 51,400,000
ELISEET 51,200,000

2/4 R=



THEEE ALHBER—

& k&)

RAE IR

A#LE R4 £84 LB (BE2) | BIEALE | B2EAHE | H1ERME | B2ERME | ALER| REEER| PEME B | 55 i
SF6&E8H21H EKEMBICHESHERIBRE6—1)I [(BOIEIEL 16,000,000
E-S ﬁrﬁ;gﬁ(ﬁ;}% = 16,000,000
it B2 TR 15,900,000
BOERGR 16,830,000] 15,300,000 EiL 17768300 15,813,787
CEIENEYY: B4 16,100,000
ERT XMW BARXE 16,000,000
EERTULREKMRAZBIERET |(BU+—3—TvY RHEAXE 2,838,000 2,580,000 EAL
BHIE HEREESEEE) BERXH 2,890,000 2,898,500 2,492,710
HKIEFERE) BEEERM 3,600,000
SH6EIA4R BEKEMBRICHSTHERIB(RE6—2)T [(BRIEIEH 13,700,000
= LEEICEICD) 13,950,000
e 13640.000 14503500 12.908.115
(BT EDEE 13,900,000
ERTEG) BARXE 13,970,000 12,700,000 AL
BKEMRICHESHERIBR6—3) T [EAEEMITERD 4,290,000 3,900,000 &AL
= E)FH/ 4,000,000 4,439,600 3,906,848
(BREZBRR 4,300,000
EKEMRICHSTHERIA(R6—4) T |HPFEELE 2,200,000
ES EFH/ 2,090,000 1,900,000 EHL 2,156,000 1,918,840
(BR)EZE B 2,300,000
e EpiEKIEHKRL TERE ERESE) BERXH 2,600,000
SHIER EBEREXAR 2,464,000 2,240,000 EHL 2,629,000 2,339,810
AR () SLNM-FEER 2,800,000
SH6EIA 128 TAEERFIHESEKEMES (R6— |[BEEEZEH) 58,000,000
2)I% BRAKETE 58,500,000
%%%E;%g@ = 57,000,000
A)EHBRTERR 57,423,000
EILIEET 62,040,000 56,400,000 B 64,196000) 57,776,400
BT7IER 58,600,000
(BR)FEIE 4R 58,800,000
= LES 58,300,000
gm"é*ﬁ%&l:{%%ﬁﬁﬁlﬂ(R6—5)I (H}ﬁiﬁ;ﬂ T 4,180,000 4,000,000 3,800,000 &AL
EEEM TEG 4,450,000 3R
EFH/ 4,400,000 3,900,000 4,235,000 3,726,800
(BREEERR 4,700,000 R
SH6E11A138 TKEEFIHESEKERRE (R6— (BT IELEE 72,200,000
NIE BAKETE 71,000,000
(BR)FEIE 4R 72,000,000
e 72,000,000
LEEIEESCD) 71,600,000 79,156,000 71,240,400
FEWLISET 70,970,000
BT IER 72,000,000
E)NITT 77,000,000] 70,000,000 EAL
(AEHERTEAN 71,500,000
SH6E11H208 EKEMRICHESIHEBFIR(R6—7)T |TREEREGE 3,240,000
ES fEEEM T E#) 2,980,000 3,133,900 2,757,832
BEXEE =MXIE 2,970,000 2,700,000 &AL
BKEMERICHESHERIB(R6—8) T |(BDFEIEH 3,080,000 7R
% MERER) 3,190,000 2R sohok sofok
IniEE sR () 3R
EKEMRICHEIHEEFR(R6—9) T [EERMIEGRE 2,450,000
= BB SEEERE) 2,420,000 2,200,000 &AL 2,509,100 2,208,008
&EAFHh/ 2,500,000

3/4 R—=




THeEE ALBER—E [UKES]

AfLBE =4

XE4

9% (Frid)

RAE IR
(FiiA)

SH6FE12A178 TAKEERFIZHESEK
EHBERS

BRI

HRiH(R6—1)

(#RB R Tt

#a—tvarYILEvk BEEXE
#)>—IRIO=TRX

GRXFEH = FEEmH

B AUK TEREH(#E) BRETER

XIS =TFULT

10,296,000

i

ETREBREK

t(R6—1)EHBZE

B)>—IRIT=FTRX

RREOIREH) HEERM

GREMRILO=TUvJ JIOERFR

8,800,000

(BR)REHET R 15 F HoRkAT

BLKERET (R6—1) XBEF

(BB T 4

H

GRKRFEM = FE E/H

b—=h1Tvo#k) =REXFR

5,060,000

BAUK TEREH(#E) BB

SM7EI[1E ;ﬁéﬁiﬁﬁﬁﬁﬂ'h')#.&@?ﬁl(iﬁﬁﬁ
)

= FAE3C)]

WILFER () BEXE

AFNMERL (#F) BmEEEA

66.50xHt#

BOAEES BEEEM

KEREXBRI(EH)

;Mﬂa‘b’&k FEREFMEBRE LY

—MREEA BEFBREREARGS

4,499,000

HRTI-DIL-H—ERG) BEXE

ARG EE (4k)

4/4 R—2




